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INSTRUCTIONS
1. This question paper should be opened only after receiving the instruction from the examination hall invigilator.
2. This question paper contains 80 questions in Part A (General Knowledge) and 60 questions in Part B (Psychology).
. 3. Answer all the questions.
4. Each correct answer has half mark.
5. Writethe Enrolment No. and Sl. No, of the OMR answer sheet at the appropriate place in the front page of the question paper.
6. The type of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.
7. For each question only one answer is to be chosen and shaded.
8. For wreng, multiple and improper shading in answer sheets, no marks will be given for that answer,
9. Ifthereis any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and a new question paper should be obtained before the commencement of written examination.
10. All the questions are bilingual except language questions (English & Tamil).
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PART - A : General Knowledge

1. Who is Greta Thunberg ? :
(A) A Scientist (B) A Holywood Actor
(C) A Tennis Player (D) An Environmental Activist for Climate Change
KCyL i Qs srestLIouT wmr ?
(A) @ aflesesre
(B) @@ apredley” py.si
(©) @@ C_eraflev afgr
(D) e uGuBlo® LIPDSSDSTT FOPFGLPD 2y i

2. What is INS VIRAAT 2 %gg

(A) Submarine ‘ (B) Warship
(C) Aircraft Carrier (D) Missile
&. 6T6bT. G1e0. QNI GIGIDTE) 6TGHET 2
(A) Bt eapp® sLiLIGY (B) Gumig siiueh
(C) aflwrend smmi%) 6w (D) eraysenesr
3. Match the following :
(a) Ponniyin Selvan (i) Seethalai Sathanar
(b) Manimegalai (i) C. S. Lakshmi
(c) Kuyil Paatu (iii) Kalki
(d) Sivappu Kazhuthudan Oru Pachai Paravai (iv) Subramanya Bharathi
(A) (i), (1), (iv), (i1) (B) (i), (1), (i), (iv)
(C) (@), (i), (iv), (iii) (D) (), (i), (ii), (iv)
Cunmsgis
(a) Glumeiredlufetr Glaavauesr () 33w gnggemmi
(b) wewGosenaev (ii) C.S. awayuLh
(c) @ulled L3 (iii) &G
(d) &oui'iy supsgi o e LFws upame (V) FUgweslu LTS
(A) (i), (), (iv), (i) (B) (i), (1), (iii), (iv)
(€) @, (ii), (iv), (iii) (D) (), (iii), (i), (iv)
4. Who is the President of Ukraine ? ;I :EI '
(A) Volodymyr Zelenskyy - (B) Vladimir Putin
(C) Boris Yelstin (D) Denys Shmyhal
2 senpailehr Gy wg%d senevant wmr 9
(A) Geunevrg.18i QFeveirav) (B) eflevmig 1B Lyg.air

(C) Gunfev erevenie.cir (D) Gl_aresflav Swmbammed
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5. Ason 31* Jan. 2022 which State has installed highest overall renewable energy capacity in India ?
(A) Karnataka (B) Gujarat
(C) Maharashtra (D) Tamil Nadu
31 gewaurf 2022 6ir Haveugliuig, e16s Bl s Clarererere) G GlsmanmL

UsI555555 afesd oupped Bnjauliu’ L S (pseil b uGs&ng ?

(A) siBrL_&1b (B) vgurs EEE
(C) wsmmaipg b D) sOpsr®  EP

6. Laughing is good for health, because it reduces the secretion of stress hormone secreted
by and makes us to relax.

(A) Adrenal gland (B) Thyroid gland  (C) Gastric gland (D) Thymus gland
PR 2L gusE pog gaehey @My, sesiiy apmiGionemsr
 sussme GoPdG Fetenin @uici Blenaws Gletat(h aumb&ISIDS.

(A) 2 _Mesred Fgid (B) ewgomi® %ol
(C) &Grewr &1l (D) ewsioev @&y
7. A sudden change in the genetic material of an organism is called
(A) Hybridization (B) Natural Selection
(C) Mutation (D) Mass Selection
i 2 Wflerg@en wiyriCurmeies Sieblges gpU@GLL LOIPDLD TG MY
I Lp&SLILIBHEDS) -
(A) sl ®) @uipess Gsiey
(©) 4GB i D) a5 Gaiio
8. In which of the following plant food is stored in stem ?
(A) Beetroot (B) Carrot (C) Potato (D) Radish
LI65Tau(BeuasToIDMIGT TSSTaITLD Sag.ev 2 awTanal CsilE&GaTng ?
(A) LT emi (B) Gsir_
(C) 2 (pemens&)pEiE (D) @peiransi&) %
9. Choose the correct pair. : ) '
(A) Vitamin A — Rickets (B) Vitamin D — Xerophthalmia
(C) Vitamin B, — Beriberi (D) Vitamin B, — Scurvy
siwner @Qevewreow Csinh0ls®
(A) eaur’ L thleir A — M&06lsL aiv (B) emeur”_tfletr D — E@uniigmevibluim
(C) emeur’_tfleir B — QMG (D) emeu’L_1hleir B, - avaiall
10. ELISA testand WESTERN BLOT test are used to detect disease.
(A) Typhoid (B) AIDS (C) Polio - (D) Cholera
a1e8lem Gonsenat wpmitb Gleuevl’ L ies Lerm. GCFngenet Gmmir LTy
s Pl LGS HEDS).
(A) emioSuimi) (B) eni’an

(C) @embiferemen aungLb (D) @smevgr
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11. Which is wrongly matched ?
(A) Igneous Rock — Lime Stone (B) Intrusive Igneous Rock — Sill
(C) Sedimentary Rock — Sandstone (D) Metamorphic Rock — Diamond
Qeupplev 615 saupns CLnwmESueTerg ? _
(A) Buunesp — FevsemiibL) LTedD (B) ser(pmyedis Sriimeom — Hab

(©) ugayiumedp — wesiHLITED (D) 2. @onw umenp — enaugib
12. Mangrove Forest is located in district.
(A) Cuddalore (B) Coimbatore (C) Dharmapuri (D) Salem
FgIU BlevdsmBser AL LGBV 6o LofSI6TorTS). EE
(A) sgpri (B) Csmuwbggni (C) sy (D) Gsevibd &

13. Consider the following statements and answer the right option from the given.
Assertion : Braindrain is related to educationally specific selective migration.
Statement (A) : Unemployment and under employment are the reasons for Braindrain.
Statement (B) : Country of origin is gaining potential leaders and talent.
(A) Statements (A) and (B) are wrong (B) Statement (A) true, (B) wrong
(C) Statement (A) wrong, (B) true (D) Statements (A) and (B) are true
Aesreu@pLd unsSwnisamen spsBle Csnan® CQsr@ssiur Herereupmyer Fumar
ursGwgeans Csik6ls®).
Fapml : HPley L ClLwiEs areiiug CsibOs@ssl L sewall Fri

QL 1CuwiGeun® CFm—iiL|enL_wsnELb.

wunsGwid (A) : <fley Lo 1O LIRS @ Gausnaveumiii NeitenLo LI &S ECEHL
CaremevuilsrantoGus smgessith 2y,@Lb.
auns@uwin (B) : ppspi® ei@ismew saeaiiseamen b, Bewsnallsaenyb ClLm@ng.
(A) eund&lwib (A) wpmid (B) seumy (B) eung@uib (A) sM (B) sauny

(©) aung&uwib (A) seuny, (B) &M (D) eung&&uid (A) wpmib (B) &
14. Which country is the largest produce of platinum in the world ?
(A) India (B) Russia (C) China (D) South Africa
Serm g arib 2 pLSFuled 2 wHGewCu As QLA sr® ey 2
(A) @pbBwn (B) gewuwir (C) Zeorr (D) Gseir o1 9Msesm
15. Drilling of oil wells is the hole drilled in the layer of the Earth. ELSE
(A) crust (B) mantle (C) inner core (D) outer core B
Lyail Slearuill” () c1eTolenTiis Flewmisen &S ILIFSIDET ?
(A) CuGeavm’iged (B) seussgSev (C) 2.6r s@pailed (D) Gleual s@palad
16. Find out the wrong pair.
(A) Mangal Pandey — Barrackpur (B) Rani Lakshmi Bai — Jhansi
(©) Velunachiyarl— Sivagangai (D) Kattabomman — Nerkattum Sevel
SUDTET (Q)enerTeniLs H6osTL 1%,
(A) msdureaCGL — LmgdLyi (B) prewfleo” gbluimis — gopnein®)

(C) Couguprd@uni — Seuspiens (D) a1 Glumbioeit — QBpsL Hid GFeueh
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17. Who discovered the direct sea route to India from Europe ?
(A) Columbus (B) Megallen
(C) Vasco da Gamma (D) Marco-polo
@CGomiunalelwigs @QBBwralne@ Cooy s afleow sar®lilydsant wri ?
(A) Qsmevibueiv (B) Qusevevsir
(C) sumevGsmL_s&miom (D) wmiGsr GunGeur

18. Who emphasized the unity of Hindu-Muslim ? :
(A) Ramanuja (B) Adi Shankara  (C) Kabir (D) Meera Bai

@B, (Lpavebid gpmieLOW S DISSwet wit ?
(A) @omoayysgit  (B) @ smspi  (C) sl (D) Bym mds

19. Who was the outstanding leader of Palestine Liberation Organisation (PLO) which was
formed in 1964 ?

(A) Yassar Arafat o (B) Robert Schuman ON0)
(C) Konrad (D) President Nasser el
1964 6b 2 Foumss i L unweavSar allHFame QuISSSHGHT LOSSSTET ST W ?
(A) wnsir oL (B) pmuit”. @uoipett
(C) Cemestgm_ (D) B Bt
20. Who founded the Adi Dravida Mahajana Sabha in 1893 ?
(A) Rettamalai Srinivasan (B) Swamynathar
(C) T. S. S. Rajan (D) V. 8. Srinivasasastri
1893 &b oy B@melll_ Lo&AQET FenLl GT6HEILD JfEIIDLIGHLI & (FUTSG Wi Wi ?
(A) Gy emi_toenev Favflaimeeir (B) seumblpngi
(C) T. S. S. gnggesr (D) V.S. ufaflauns smevsif

21. Assertion (A): The President is the Supreme Commander of the Armed forces of India.
Reason (R) : The President is the head of the State and occupies the highest position.

(A) ‘A’ is correct and ‘R’ explains ‘A’ (B) ‘A’ is correct and ‘R’ does not explain ‘A’
(C) ‘A’ is correct and ‘R’ is wrong (D) Both ‘A’ and ‘R’ are wrong
FaDmI . BUWTES ST QBB JQUSLILIGHL BTG SO SOTLIS @i

SAIEHILD  (GLYWTSHS ST BT 196 SeaUITHa LD D% 2 Wibs ugall
Blevaveuwintb euREE .
(A) spry &M, STIeHTLD FoHIISBTES FAlWTeT aNeNSSLONEG LD
(B) spmy &, sngeniib smpmissEnaT FAwTeT alerssLoe6 %g%
(C) wmpmy o1, sngemrd Souy Gl
(D) epmy, sngewib @)oesT(hid Seum
22. Who introduced the Local Self Government to India in 1882 ?
(A) Lord Curzon  (B) Lord Wellesly ~ (C) Lord Rippon (D) Lord Hasting
o Gl & el jsenen 1882 v @pSlwnalled yPlpsLiLi@SHwet wr ?
(A) srigeir gy - (B) GaucvGlovevad gy
(C) M gy (D) Gamevigmien 91y


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@d7) |

. )

23. Where is the headquarters of BRICS Organisation located ?

(A) China (B) Brazil (C) Russia (D) South Africa
Liféav yeioliiler gemeveniowisih 61mIg, DYDLOBSGTTG| ?
(A) & (B) 19GzSsv (C) papwr (D) Qgesrenmindfssm

24. The disputes between Central Government and the State Governments are adjudicated by
(A) Parliament (B) High Court (C) President (D) Supreme Court

LogBw-1omblev sypenmIsRSeaT @) _ullevrer Hassemar 8138 aneud@Lb yeLoLiL] 618 ?

(A) pr_mepepib (B) 2 wip@oesimib

©) GYywiss semevalr (D) 2 ésh8wepib ESE
25. Which of the following State have a common High Court ? (=

(A) Tamil Nadu and Andhra Pradesh (B) Kerala and Telangana

(C) Punjab and Haryana (D) Maharashtra and Gujarat

Bipsangmib e1ps wiflewkiser Qungieunar > wif® wemsms QupmieTerar 2
(A) spsn® womib ST Cssih (B) Casgert Loppith C\s@ymismestm

(©) wEsens woHmid emRwirest (D) wsngnaug om wppb Gggons
26. Which Indian has won Nobel Prize in Economics ?

(A) Kailash Satyarthi (B) Mother Teresa

(C) S. Chandra Sekhar (D) Abhijit Banerjee

Clunmenngmig@ed Grrue Lfs Ceusn @)bSwi

(A) vsnay sswI55) (B) yarenasr Csasm

(©) erowv. 5687 Gasri (D) <1985 Guesigl

27. Which of the following is a direct tax ?
(A) Excise duty (B) Customs duty  (C) Incometax (D) Service tax
Speumerareupmier 6151 Criwps auf 2

(A) sevmrad euf (B) @#mis eurf (©) eu@pLomes eufl (D) Graweu eu
28. Which district in Tamil Nadu has the highest sex ratio as per 2011 census ?

(A) The Nilgiris (B) Nagapattinam

(C) Thiruchirapalli (D) Thanjavur

2011 sawsClsQLdeTuy, SWOPHI 96T 6B Il LS LmeSer EVEAETH)
BSOS 2_aTeTg)

(A) faw@ (B) prsliuc genrid
(C) BwéPuniiueref (D) sesamayir
29. I) Nationalisation of banks was effected in 1969. %
IT) ICICI is a Nationalised Bank. :
(A) Only 1 is true (B) Only II is true
(C) BothI and II are true (D) Both I and II are false

1) 1969 &lppgr aumGlser pm HL_ewwnsss Qeweum g6 o srens).
IT) ICICI ereirugy qpp CoFwiowonssiiL 1. 6uniG)

(A) I @b M (B) II o @b &)

(C) I wpmyb 11 @uesa®id &M (D) I wopgyib 11 @uesr®rd seumy
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30. Stock Markets in India are regulated by

(A) RBI (B) Ministry of Corporate Affairs

(C) SBI (D) SEBI

@pHurallevr LIBIG FbengHeeT @@@@ﬁu@é@m@ 61%) ?

(A) @BHuw MFic ams) (B) Qup Hlmyeuer aleusmimiser QenLnéssLd

(C) avCBrLr’ Guiid U1 @pbSwm (D) @pSw L wHpib uleuisserat eumfliib
31. On which river Tehri dam was constructed ?

(A) Kosi (B) Krishna (C) Narmada (D) Bhagirathi

QBN sement 61H5 HPleT GmSCs SLL 1L (HeTeng) ?

(A) Gsn® (B) S papewm (C) pioens (D) L&

32. Which country shares its shortest border with India ?
(A) Nepal (B) Bhutan (C) Afghanistan (D) China
GnISw Blev ersvemaew @BSwn eibs B HL_ar LuSMEg Clsa&ng ?

(A) Grumerd (B) wyr_meir HEE
(C) gyusmeflavgme (D) Zewrr =P
33. Where is the National Jute Board headquarter is located ?
(A) Kolkata (B) Mumbai (C) Chennai (D) Delhi
CsHw gewrev UGB er SEENLOWIHLD 6THIG eLOHSIGTENS] ?
(A) Ganvsgssr  (B) woLbenus (C) Gsstrener (D) Qr_sval)

34. Which of the following is true ?
Assertion — A : Tamil Nadu is located in Deccan Plateau.
Reason — R : During cretaceous period this part got separated and formed Gondwanaland.
(A) “A’ is correct/ ‘R’ is wrong (B) ‘R’ is correct/ ‘A’ is wrong
(C) ‘R’ is not related to ‘A’ (D) ‘A’ and ‘R’ are correct
Haramueteupmley FAwmes) 61evey ?
gpml : Guspu LfLh ereriu@h saésness L Lyuiled SLOpHBI®
DI GOLDBSHIGTETS
smgesTd : @)ULGS SO G fwew srwgGed 9M5g Clseip Cama aumet
Blewli@Buley o (meunest b LIGSWGLD.
(A) spmy FRwneng)/STI6HILD S6uDTTS] E5E
(B) sngewiih Fflwnen eundSiLb/sspa $apresig) [=E
(C) sngewih aflwnes alendsid e FoDBIDG
(D) sapmy opmitb Higewiid @)oesst(pb il
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35. Match the following :

Hill Station State
1) Mussoorie 1) Himachal Pradesh
2) Shimla ii) Kerala
3) Munnar 1i1) West Bengal
4) Darjeeling iv) Uttarakhand
(A) i, ii, iii, iv (B) iv, iii, i, ii
(C) iv, 1, ii, iii (D) iv, iii, ii, i
AL
LOGNGUGUITLAIL 16T LomblevLd
1) wpGesmrfl 1) @urésalIrCssib EERE
2) &bevr ii) Gagerrm i
3) epestmay i) Gpe eurismernd )
4) LmigdleSms iv) 2 $Busmes
(A) 1, 1, iil, iv (B) iv, iii, i, ii
(C) iv, i, ii, iii (D) iv, 1, ii, 1
36. When white light enters a medium, which colour travels with highest speed ?
(A) Yellow - (B) Red (C) Violet (D) Blue
Glaueirener gefl gi san_sgBsier Qaeveyd Cung), eigs Bt 85 CousgGev
ClaevayiLd
(A) w@pFer (B) Seutiy (C) eansm (D) Beorb
37. The instrument used to detect the presence of electric charges in a body is
(A) Microscope (B) Voltmeter (C) Electroscope (D) Ammeter
Clumper gesmled 1Bleigiseisar @LiLams sar Pl LWSTLESSILELD SHadl
(A) mewGewsira &) (B) Geumevr” b1 11
(C) plevevidasiam g (D) b’ i
38. V=IR

(i) The above formula was given by George Simon Ohm.
(i1) In this Formula “V” stands for potential, ‘I’ stands for current and ‘R’ stands for resistance.

(A) Only (i) is correct (B) Only (ii) is correct
(C) Both (1) and (ii) are correct (D) Both (i) and (ii) are incorrect EE
V=IR ﬁ%

(1) Gpemplu FweTLIn() Qi aF6T @Lb eTeTLICUITE Blmieulii L_g).
(i) Guwpamplu swerum’iged V' earug Beararwsssmsuy ‘1’ eerug
WletGenrni’ L gensub , ‘R’ ereirLig) 1eigen_aviouid @mlé@Lb.

(A) (1) @b sM (B) (ii) oi” (b &

(C) (1) opaytb (ii) oM (D) (1) pmyb (i) sMwevev
39. Which nuclear fusion produces energy in the sun ?

(A) hydrogen to sodium (B) lithium to hydrogen

(C) hydrogen to helium (D) hydrogen to iron

IS Y eEs [ Qevenailarted @ fwafley PHped o Feun@ang 2
(A) emant” 1gafladlGpg1 Comguwid (B) alPwsellmpg eant seges
(C) wan sgallellpig afaslub (D) ean’ ggallellmig @iy
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40. Cryogenic propellants used in rockets are at
(A) very high temperature (B) high temperature
(C) room temperature (D) very low temperature
@ursQsL Bsefle LweL@SSOILGLD BDyrGur Cgefls Qués CLn@eser
(A) s P& CauiBlenevuiley @)Hs@Ld

(B) @185s QeuLiuflencuiev (3)hdh@HLD E :E]
(C) »yep Geuliuplenevuiled @)B%@LD
(D) Bss Geopis CeuiuBlaeuils @)BEEGLd
41. The President of India can nominate
(A) 12 members of Lok Sabha (B) 2 members of Rajya Sabha
(C) 12 members of Rajya Sabha (D) 14 members of Rajya Sabha

GUWIHS SEeuTTed BluidEs ILIBLITSET
(A) Canssausg 12 2 pinferiser  (B) gngw seoud@ 2 o piliferiser

(C) mngw sewud@ 12 e puifariser (D) ongu seouse 14 o minSlestiser

42. Which house of the Parliament is known as Permanent House of the Parliament that never

gets fully dissolved ?
(A) The Lok Sabha (B) The Rajya Sabha
(C) The Ministerial Cabinet (D) The group of Ministers
[BIL_T@BLOGINSBIGH 6THS Sjea, B TEBLOGIDSBIGH [BIThET Sjenauns SPWLILIGEDS ?
(A) ssarenacy (B) onfleviisereneu
(C) yenipdFgemnal (D) yewidsiser &up -
43, What is the time limit to get the information from RTI Act, 2005 ? Ohe
(A) 20 days (B) 25 days (C) 30 days (D) 35 days

saaicd yPluyb 2 Meviod s L tb 2005 61 LI FseueeVL) ClLDICISDHETET HTew QUILDL]

(A) 20 pmseir (B) 25 L _seir (C) 30 pn_sar (D) 35 pmi_ser

44. The electoral system in India has been adapted from the system followed in the

(A) United Kingdom (B) USSR (C) France (D) China

@BBw Gsiged wpep & WetupplL@d Gaiged (penpsament LSesrm )
gpmid ClEmeraniiLIl L g).

(A) @EBersHed ' (B) Genadlws peyuwimaied

(C) Wgnesradev (D) Fewnalilev
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45. Match the following :

1) Citizenship Act (i)
2) The Preamble (i1)
3) Classical Language-Tamil (iii)
4) The mini Constitution (iv)

(A) (1), (i), (iii), (iv)
(C) (i), (iv), (ii), (i)

Qs

1) eywyfeniod &’ 1b (1)
2) wsajes (i)
3) O&#bGlomfl-sL8lip (iii)

4) Go Srweentoriy (iv)

(A) (), (i),(iii), (iv)
(C) (i), (iv), (id), (i)

42" Amendment

2004

1955

Jawaharlal Nehru
(B) (iii), (iv), (@), (ii)
(D) (iv), (iii), (ii), (i)

GET IT ON
Google Play

42 qugl wFweeniolil)g s 1L 8 FSsLD

2004

1955

@aigievmed Grp
(B) (iid), (iv), (i), (ii)
(D) (i), (iii), (i), (i)

46. Which Act separated Burma from India ?

47.

48. (1) The Mangulam inscription mentions the king Nedunchezhiya Pandian.

(C) (1), (i) @awGb Seum

(A) Government of Indian Act, 1935

(C) Rowlatt Act

(A) @B&5w ooe &' 1b 1935

(C) Ggemevr gL tb

(B) 1833 Charter Act

(D) Minto-Morley Act
eIbSSFFL L b Lfibnemey @B wraleSl g LINSS5)
(B) 1833 wir wés" 1 1b

(D) hlesrGL_m-1omied &1 ib

Name the Nayak who inaugurated the kingdom of Ramnad.
(B) Muthu Vaduganathar

(A) Muthu Krishnappa

(C) Chokkanatha Nayakkar

(D) Vishwanatha

Qumpns FHpoms COsm_RiISeaags Brusst wrr o
(B) wsg u@spsi

(A) wsa Sapapemii
(C) Qenésmns mmussi

(A) (1) only correct

(C) Both (i), (ii) are wrong

(D) efleyeupnsi

(B) (ii) only correct
(D) Both (i), (ii) are correct

(ii) The Mangulam inscriptions were depicted in Tamil-Brahmi letters.

ESE

(i) nsgend seelar’ B unemgwer Q@ EsCFAweT LHY FonBnG).

(A) (i) oL @b oM

(i1) wrEgend seblas’ B sLhlp-19gmb) erupssidsertes Qumias Ll L amay.
(B) (i) wot” @b &M
(D) (@), (ii) @uavar @b &
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49. Which of the following statement is true ?

(1) In Sangam Age the Kingship was hereditary.

(i1) The King was called “Ko”.
(A) (i) only (B) (i) only
(C) Both (i) and (i1) (D) None of the above
Brpsetil_ gnpmisailch cTene 2 GRIGHLOWTGIG ?
(i) #mIsST0ESH TFTMenLD LITLDLICH TWITCHTS].

(il) oypsi “Car” e1as SyenipdbsriLil L mi.

(A) (i) o (pb (B) (i) ol (b

(©) (i) wpmyid (ii) @)uessr(BH)Lb (D) @eunpled e1kajb @)evencV
50. Match the following : .

a) St. David Fort (i) Calcutta EEE

b) St. George Fort (ii) Pondicherry E&g

¢) St. William Fort (iii) Chennai

d) St. Louis Fort (iv) Cuddalore

(A) (iv), (ii), (iii), (1) (B) (i), (iii), (1), (i)

(C) (iv), (i), (1), (1) (D) (i), (iv), (@), (iii)

QuUTBSS15

a) yeflg Craill Gam’ emL_ () ssssT

b) yefls spmigh Casment (i) wmevorig.&Ga

¢) yefls aflevellund Casmenr (iil) Glesrenar
d) yefls epruilenvy Csmeni_ (iv) &L

(A) (iv), (ii), (i), (1) (B) (iv), (i), (1), (ii)
(©) (iv), (iid), (id), (i) (D) (i), (iv), (@), (iii)

51. Find out which one is not in the Food Quality and Safety Control Agencies ?
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO
Wesrau@meuaraunPleh 618 2 ewrey LLHMYLD SossL_HLILA®R BlniaieTb jeiev
(A) FSSAI (B) AGMARK (C) FICCI (D) FPO

52. Pernicious anaemia is a deficiency of Vitamin.

(A) Iron (B) Cyanocobalamin

(C) Folic acid (D) Vitamin K

Quietafluev @rss Conamasemw apLIBSSID 2 UTé6S5 GDLIT(H
(A) @QupLbL 55551 (B) swGsniGsmiimevrlasr
(C) 2Cunadls yblevid (D) 2.u9issg5 K

53. Anexample for decomposers are and E%&E
(A) Bacteria, Fungi (B) Bacteria, Lichens E
(C) Fungi, Lichens (D) Algae, Lichens
FenSLILIGTEn 0uH @55 61(hDSISSML_(HHET Lo mLD
(A) ursefunssd, Lesemssear  (B) undewnsse, eesClseser

(C) Yyeravaser, @evs0lsaiser (D) @yevsrés6r, evdblsaisen
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54. Identify the true statement with reference to noise pollution :
Statement — I : Noise is the unpleasant sound.
Statement — IT : Reduces depression and stress.
(A) Statement I only true (B) Statement II only true
(C) Statement I and II are true . (D) Statement I and IT are wrong
@ g% GPs sMlwnes curs@usemns s s
aungSuno -1 : @eNevowpp @)evgdgevner gad).
aung@unb—11 : oar GFriiay () WEsS5®S FODEFDS.
(A) ounrg@wib 1 wor”_ Qb & (B) eund&Swib 11 or” @b M
(C) awngGwid 1 oppid 1l sflwnergs (D) eurd@uwib 1 wopgyih 11 SQUDTEEZ)

SS. Match the following : | E¥E
Conservation Law Year ,EIE%
1) Project Tiger 2 a) 1992
i) Project Elephant b) 1999
ii1) Sea Turtle Conservation Project c) 2020
iv) Indian Rhino Vision d) 1973
(A)i—-d 1ii—a iii—-b iv-c¢c

(B)i-a ii-c¢ iii—d iv-b
©)i-b ii—-d iii-¢ iv—-a
(D) i-c¢ ii-b iii—a iv-d

Clunmpgs15 - .
Conservation Law Year
1) yeflser ungismiL) S 1L tb _ a) 1992
i) wrenerselr LIMgSmIL] S 1 1b b) 1999
1) SL_60 YeOLOSGT LITGSTLIL) S L _th c) 2020

V) @QB&w snew_mbmeniser urgsmiy S b d) 1973
(A) i-d ii—a iii-b iv—c
(B)i-a ii-c¢ iii—-d iv-b
(C)i-b ii-d idii-¢c iv—-a
D)i-c 1i-b iii—-a iv-d

56. The name of the new Citizen Safety Mobile app launched by Tamil Nadu Police recently is
(A) Kaavalan (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE
SLOLPBA(R) HTeUG) FIHDWTED (&L9.LOSSET UMGSTLILSSMS FLOLSHD Qg m_msiin 1
@5CGL CFwaluler Quwi 2
(A) smeucvest (B) smaueh 2. 30l  (C) geresrGuned (D) 1g.e16CLimeSev

57. In Tamil Nadu, where was underwater Archaeological site Museum established ? IS

(A) Tranqubar (B) Korkai (C) Musiri (D) Poompuhar
SpBT 196 a1 BSsiulleh Gsnevailcd gerb S@FEISTL AWSLD DeLpsasHL
UL (heTeng ?

(A) sosmsibumg  (B) Qsmpeans (C) wp@m) (D) ybysmi
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58. FASTag at the Toll Gates uses which waves ?
(A) Infra Red Waves (B) Radio Frequency Waves
(C) Ultra Violet Waves (D) Micro Waves

FEIBF FTUY SN YNLDBFIGTOT SLITOVL. L_M5-6D 6T5F IeMeV HFI&HET
2 CWTRSSLILGFSTDET ?

(A) @15 Dol s (B) GupBuinr yemeveuilens

(C) ymw 2e1sm yeWWSHIT (D) miessr emev SHIT

59. Match the following : ; .
Country Year of Independence Eﬁ

i) Sri Lanka a) 1971

ii) China b) 1948
iii) Bangladesh c) 1949

iv) Pakistan d) 1947
(A) a b c d
(B) b a c d
© b c d a
D) b c a d

QummS S

B1® SSBSLD ClpD (/L LD

1) wfevmism a) 1971

ii) Gestm b) 1948

iil) umisaTTCsey c) 1949

V) un&levsmer d) 1947
(A) a b c d
(B) b a c d
(©) b c d a
(D) b c a d

60. Who is the author of the book ‘Keezhadiyil Ketta Thalaattugal® ?

(A) S. Venkatesan (B) Erode Tamilanban

(C) Vela Ramamoorthy (D) Karthik Subramaniyan
‘Bipig ey CsL L gmevn (Rsen erep mredler & Mwir wrir ?

(A) &. QeumisGL g6t (B) #Gur(® sLblipeirLia

(C) Gouev gmioepis s (D) smig®s sl gioewfliicr

61. The Vacuum Flask was invented by

(A) Kelvin (B) Antoine Lavoisier

(C) James Dewar (D) Pascal EI#E
QaupPl_s @B encuenws seost(HLNg 5SSt =
(A) Glsevallest (B) a6l _miieir eoaumiiedluii

(C) Gepbav Peumi _ (D) umavsed
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62. While going for a ride in merry-go-round you experience an outward pull, this pull is due to

63.

64.

65.

66.

-14-

(A) Centripetal Force (B) Centrifugal Force

(C) Electrostatic Force (D) Magnetic Force

G Qo yag@ed sppid Clunupg, priser QeelGrré®u Heasuiev @)up
aflensenuws o ewii&pisen, @)IalasssTaT SMyanLb

(A) enwow Crrd@ aflans (B) ewow alevd@ allens
(C) Blewov Warasflued aflens (D) smbs allens

Choose the correct pair : EIH5E

(1) Atmospheric pressure a. Newton =

(i1) Force b. Pascal
(iii) Mass c. Kilogram/metre®

(iv) Density d. Kilogram

(A) @) b (i) c (i) d (iv)a

(B) ()b (i) a (iii)d (iv)c

(C) () c (i)d(ii)a (iv) b

(D) ()d (i) c (i) b (iv)a

gilwner @enewrenwd Csin6ls@GS5a LD,
() evellwetn e yupssb  a. By e

(i) aVens b. wumevsad
(iii) Hevp ' c. FCoon&lgmb /LB 1 P
(V) 9L i59 d. Cevr@gmib

(A) ()b (i) ¢ (i) d (iv)a
(B) ()b (ii)a (i) d (iv) ¢
(C) ()c (i) d (i) a (iv) b
(D) (i) d (ii) ¢ (i) b (iv) a

Which unit is used to measure the intensity of sound ?
(A) Hertz (B) Light Year (C) Candela (D) Decibel

@aflufleir Qleflaurens) a1bs st yerai_LiLBRDS
(A) Gamicav - (B) gofl a0 (C) Caawrgevr (D) QL_@G)ied

Boiling point of water is 100°C. Its value is equal to

(A) 273.15K (B) 212°F (C) 100K (D) 200°F EE
Biilesr Glsngblenew 100°C. @)bo@ 19D @& FLotoneig)

(A) 273.15K (B) 212°F (C) 100K (D) 200°F

Which country will host FIFA 2022 World Cup ?

(A) America (B) Qatar (C) Russia (D) Brazil

61b% B oodeoLim 2022 o evsd Camliieuew pL_SsacTers ?
(A) <Cwhsanr  (B) agsmit (C) paywm (D) 19GrRe»

A
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67. 1) NATO is established for providing mutual defence to member countries from an attack
by an external party.
IT1) Russia is a member of NATO.
which of the above statements are true ?
(A) Only I (B) Only II
(C) BothIand I (D) Both I and II are not true
1) NATO ereirig @ Qeueflgrinienfsn sné@selles @wHa 2-mii) prHSEESS
ugevLy Ungsmilnsns Blpieuin L g. '

II) paywmr NATO afleir 2 mliSesrgns 2 ereng). 2 =Ei
Gule Car@ssLiul L B 6165 Fpml FAwneig ?
(A) 1 " Giub . (B) 11 1ot” b
(C) I pmyd 11 (D) I wopd 11 sauprers
68. Who is the first Indian to have won Golden Globe Award ?
(A) M.S. Subbulakshmi (B) Latha Mangeshkar
(C) S.P. Balasubramanyam (D) A.R. Rahman
Ganev_air GGenn) alpens QUDD (pS6d @QBBwit wmi 2
(A) erib. eTe. FLUILjGVFYLH) (B) awsn omiGsavsmi
(C) erenv. 9. unﬁvaéﬂ:_ﬁgmmﬂm:,b (D) er. gyii. g@UDLDTGT
69. What is the expansion of UAV ?
(A) Unarmed Aerial Vehicle (B) Unmanned Aerial Vehicle
(C) Unique Armed Vehicle (D) Unmanned Attack Vehicle
UAV @eir aflfleundsid eresrer ?
(A) ety ib® erfliueh eunseitd (B) yesrinnevar(h arfiued eurgerLd
(C) weflé 2 ib(® eurseLd (D) yctriomessr(h) oL GUITSGTLD

70. International Yoga Day is celebrated on

(A) January 30 (B) May 1 (C) June 21 (D) November 19
2 s Qursn Hard 615 Hrafey Qsmew_m_ LGS na ?
(A) sgeweuril 30 (B) G 1 (C) ggoar 21 (D) mpasbui 19
| E5E

71. Which hormone is associated with our immune system ?
(A) Insulin (B) Thymosin (C) Thyroxine (D) Adrenalin
wLog) Crmiig enL_&nLiL] el _evdhgiL a1 Glsm_iLjeoi_w anmiCGLoreT 61g ?
(A) @evraadles (B) ensGrom&esr (C) ewgogngader (D) oy iilerelles
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72. Assertion : Mitochondria are called ‘Power house of a cell’.
Reason : They produce energy rich ATP molecules.

3.

74.

75.

(A) Assertion correct, Reason wrong
(B) Assertion wrong, Reason correct
(C) Assertion and Reason both are wrong
(D) Assertion and Reason both are correct

g
015

Fapm) : L CLrasram Munsser  Clecedler pme 2 maEer eTan)

2 LPS&LILIHE ST G

SIgewiLh : eneu lenswippesls Glupp ATP epevdsnpisemen o (Hairs @S ng).

(A) @pny i, srgewrd seumy
(C) ®mpmy, snpewrd @Qoesr(RLd Feumy

Match the following :

a) Vitamin C 1) high fat

b) Avocado 2) iron

c) Seethaphal 3) fat soluble pigment
d) Carotenoids 4) Guava

(A) 2,1,3,4 (B) 3,4,2,1

ClLImBS 5%

(B) &pmy saumy, smgesstib &
(D) &pmy, smgewid @)oes(Bib &)

(C) 1,4,3,2 (D) 4,1,2,3

a) o ufisesg C 1) @85 gera; Clamupliy
b) 9euGsCGLir 2) @mLbLys 555
c) &sm uiptb 3) GanupLied sewgwdsnigur Bpih

d) sCGoniiceumi@ser 4) Csmuiwm
(A) 2,1,3,4 (B) 3,4,2,1

) 5532 0.8 R T

A disease which weakens the bones and makes it brittle is

(A) Paralysis (B) Osteoporosis

(C) Fatigue (D) Nerve Impulse

IIDLSET uaNp&S ClFiIg eupap o L widdmigw Baadyg Gsmew(

OFevayih Crmis
(A) Lgseungtb
(C) sewantiLy

Select the correct option :

(B) gpovi’ 19 CunGunGun&lev
(D) pobys gned_ed mgg

Statement — I : When vegetables are cooked in water Vitamin — C is lost.
Statement — II : Vitamin — C is water soluble in nature.

(A) Statement I and II are true
(C) Statement I — true, II — false

Fhilwnmesr alenL_enwg CzinGls®).

(B) Statement I and II are false
(D) Statement I — false, IT — true

gpmy — 1 : smisplaenen e Fend@d Cung), 2 ulisssg — C @apaasuu@@pg;
Fgapmi— 11 : 2 issgg — C, Bled sengub seteno Clsmese_gy.

(A) wpmy | opmyd 11 &M
(C) gmpmy | &M, 11 3eumy

(B) &pmy 1 oppid 11 seugy
(D) pmi 1 soumy, smpmy 11 &
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76. James Chadwick discovered the particle is
(A) Electron (B) Proton (C) Neutron (D) Positron
Gagibew s adls sa@T(BHILIY S5 HIS6T
(A) et gnesr  (B) yGuminer  (C) Ay onesr (D) wmedgmeir
77. Statement : The reaction that takes place in rusting of Iron is oxidation. (5=
Reason : Because iron is converted to its oxide. [elc:
(A) both Statemént and Reason are correct (B) both Statement and Reason are incorrect
(C) only Statement is correct (D) only Reason is correct
Fpmi: @) stbry QUL ser s Ssadleb pevL_ Gl aflaner gy sailgGanpmLb

%@Lﬂ.
sngewiLh : glaratley @)BLOL S pSaFBSeTTs LDTDDLILIEBILD.

(A) goapmy LopmiLd Smgewitb @uevs b &M (B) eapmi opmid srgesid @)esa(h)b Seumi
(C) sapmy ot” Rib &ifl (D) sagewiib ol Gib Fifl

78. Choose the correct acid and its use.
(A) nitric acid — digestion of food (B) sulphuric acid — bafhing soap
(C) vinegar — preserve food materials (D) benzoic acid — detergents
sflwmrer oblevtb WpHmith 2yFer Lweisamer Csiinh6ls®
(A) evpLMs oblevtb — o-ewrayiClLim@pensener GlFfomesib
(B) gav9y s sblevid — @afluied Cemriiy
(C) adesllai — o_ewrayls Qummmer Gl GGLTSTOD @Q)(HoHS

(D) Qustismuils oyblevib — Fevemeu CFmiiLy

79. Which gas is responsible mainly for ‘Taj Mahal’ turning yellow ?

(A) sulphur di oxide (B) ammonia (C) chlorine (D) hydrogen
STGLOADIG), LDEHEFT BDLOTS LNNIISDHE 615G UMy pSEW STIeRTOTSDS ?
(A) sevr oL Y FenF[ (B) <@nbComesilwm
4 ; E5E
(C) &Canrmileir (D) enami” gggeit bt
80. The most commonly used cooking gas contains LPG which means ?
(A) Low Pressure Gas (B) Liquified Petroleum Gas
(C) Leak Proof Gas (D) Low Phosphorus Gas

Qungieuns P& yeraled LWETLIGILD Fanowed aumuyeailey o erar LPG erairLig
(A) GODES (PSS Gy (B) @uauonssiiu L Qul GoreSlw eumyy
(C) s&euenL_wng eumyy (D) @ephs LITevLIgen aumy|
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81. Choose the appropriate word for the following :
“any building of a past age, regarded as a historically important place”.
(A) Exhibition (B) Laboratory (C) Monument (D) Sanctuary

82. Choose the correct passive form.
The manager appointed many office assistants.
(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager
(C) Many office assistants were appointed by the manager
(D) The manager was appointed by office assistants

ESE
83. Fill in the Blank. . ﬁ%ﬁ
If your friend always thinks the best will happen, she is
(A) Humorous (B) Optimistic (C) Creative (D) Frank
84. Choose the correct meaning of the idiom “a couch potato™.
(A) A clever person (B) An important person
(C) Anidle person (D) An ideal person
85. Choose the suitable question tag.
Nobody called, ?
(A) do they (B) didn’t they (C) did they (D) don’t they
86. Complete the following :
If I had had money,
(A) I would invest in the business (B) I will have deposited in the bank
(C) I will buy a car (D) I would have donated
87. Match the following :
a) Beauty I) Adverb
b) Pretty II) Noun
¢) Neatly III) Conjunction
d) Unless IV) Adjective
A IVIIOHI B)IO IV I I @urIriivim @11V In

88. Choose the option which has logical relevance.
I. ‘Fine’ means healthy
‘Fine’ means the amount paid for punishment.
II. In the above sentences, the word ‘Fine’ is the example for ‘Homophone’.

(A) 1is false Il is true (B) 1 and II are correct
(C) 11is correct II is incorrect (D) Tand II are false —
89. Fill in the blank. Ol
It is our responsibility Sparrows. '
(A) to save (B) saving (C) to saving (D) for saving

90. Fill in the blank with the suitable conjunction.
You cannot go abroad you get the visa.
(A) still (B) until (C) if (D) otherwise
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91. imaflewer e CeTHODIL_enT Sl s
(A) jeuamenis B(bHsSF GCleFdismer (B) shes aseet GAIDISHLI LI.565 eUSS T

(C) yeuatt B ppSesmes (D) weirel&@L1 LSS MBI au(balSS i
92. ‘GOGE, Fwsa’ - @&Qsnalsr @adsand GPlious Caibols®.

(A) QEG&S0sTL 156 (B) @i d Glamailser

(C) werys Csmrensser (D) aleweng Gl mensser

93. @QpissTVEWS 2 ewTiGSGID CBTL_ IS ST HI% i
(A) Cpdaauled LOlESallEsT LIT UMpHEesT ;sgg
(B) Qpevanevudley SLOLPES@INEHT LIGUIT QUTLHEUTTEET e
(C) @paencvuiled HLApEEaIEHT LIGT QUTHEDTiSET
(D) Greenevuileh HLllpssallehi LIGVIT UMPHEDTTEHET

94. Quicviegud aNBufewyib Bleirp o udiwpesT EssL GLD- aflent &CGsPD aSlewnT enLods
(A) Queviayd alPulleb Hlesip o ulliipeit srenay LilGLd ?
(B) @Quevispib alBuispiib Bleirp Clouipesr e1emeu LHGLD 2
(O Querispib aNGulepiid Hlesip o udliLpss erena LAST 2
(D) Queévnisgid alDulleyb Beip o ufiesr ereney LOELD ?

95. paTdwmlse ererenyid GlFmevenavls LIMSgI e1(1LpSS SHlewL LILIg)

(A) perg + whlsed B) perhl + oplseD
(C) meimm + iz (D) meirpy + wlsed
96. sib + 2 w9 eretiISeTs CFigs 6B Havt_sGLd Glemed
(A) swsdi  (B) sbapudi (©) sbadi (D) sepuli

97. ‘@éruflene sn1Ger cuBg eTiigib LgmLFG’ -@)sieuguiled ‘LignLgGLy’ GIGTLISE
Clummer wig ?
(A) 8rpmewr QuimesGon (B) Groevmesr GlimmmGer
(O) QueGroeumer QlummGar (D) QunmmGar

98. ‘uenBs @allwu’ ereiauess Qlsmi 9
spm 1 : aflenenQudss Qem it
o 2 ¢ Quwllgsss Qs

(A) snpoy 1o, sappy 2 seumy (B) aapmy 2 &M, spmi 1 seum
(C) apmy 1,2 &l (D) yewastdsib Heumi
99, fereuHLd 1B iECFTHSM LI ClLIMT(5SS5I%

1) eraflgy - 1) yoeuevr

2) w&6L o= i) oyl

3) opput - i) gppe

4) @ueuevir — iv) 2 pelert
(A) i iv i i

(B) iv iii i i E5E

(C) i i iv i Ol
(D) i iv i i

100. ‘a0 B -1t SLOPFCIFTOSIGSTET, %:5'1@@& OFncvencvg Csiis
(A) Visa (B) Migration (C) Immigration (D) Passport
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101. Results of class X of a school are given below. Study the table and answer the questions.
Year 1991 | 1992 1993 (1994 | 1995 | 1996
Appeared 198 206 |230 |212 |216 | 180 Elg&']
Passed 180 197 [210 (203 [194 |178 e

102.

In which year was the pass out percentage minimum ?
(B) 1992

(A) 1991

(C) 1993 (D) 1995

@@ LeeluileT Lgsmd aigLiL) wyayser 8y Qsr@asliur Herere.

QL L euenemrenuwils LS5 Caeraid LSawelssaib.

24,6057 (p) 1991 | 1992 | 1993 | 1994 | 1995 | 1996
Canasdesmmi 198 | 206 | 230 | 212 | 216 | 180
Cais® Qumpmr | 180 | 197 | 210 | 203 | 194 | 178

616G (R CoHidFd aNFsib G®paurs 2 dreng ?

(A) 1991

60 +

Distance in ks
o B o® & B
[~ - - =]

—

(B) 1992 (C) 1993 (D) 1995
Calculate the speed of the car.
1 (360).,
(300
(240
(180
(120)
(60
o 1 2 3 4 3 5
Time in Hours

(A) 40 km/hour

sflest Goustb eTesTeer ?

3 360 +
J 300 +

4 1 (60)

(120

(180

(240)

(B) 50 kim/hour

(300)

(C) 60 km/hour (D) Cannot be determined

[ELE

(360
¢ Bl

0 1

2 3
Cpmb CpsGed

]

(A) 40 &CGevm 16 1_i1/1oess)
(C) 60 KCevr B 1_i7/1p6ws

(B) 50 &Gevm 1B 1_rt/1oew)
(D) Siwnefléspiy gy
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Answer the following 2 (103-104) questions based on the bar graph.
The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.
QesrRsasLILL L UL L euengliLiL_gesl umigsgl, &paimed 2 (103-104) Cseailsenss
afleml 6T(LOSIS.

Qar@Rss LIl Berar Ll e erengiL_g&le 2010,2015 opmyb 2020 2,555 @S mesT
A, B, C eypeiigy papmisailen wéser Ggrens Csr®hssliul (Herang).

= - EE
3 ?
= . (=]
I 35 36
% £ 30 30 >
-J 7,
=R ' 27 28 7/
~ 8 25 7 /
g § 7 /
% / /
i / =
@] / /
3|
< 7 W 7
2010 2015 2020
[Cr s ZAc
103. Which of the following cities registered the greatest % variation in the population from
2010 t0 2020 ?
(A) A (B) B
(€ C (D) Both A and B
2010 St 2020 cueny 6155 BHISH 6 LE&6T CFTans 5% s56I5Ld Caumum’ g6
2 6TNG). :
(A) A (B) B
© C (D) A wpmb B

104. In which year is the population of city B exceeding that of city A by 20% ?

(A) 2010 (B) 2015 EEE
(C) 2020 (D) Both 2015 and 2020 ‘EIE%;

15 yewnigad B parsBer waser Clsnma, A paisBe waser Clgrasamw ail,
20% 2@ sLonE 2 _6iteng) ?

(A) 2010 (B) 2015

(C) 2020 (D) 2015 wpmb 2020 @oessr(hLd
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Answer the following 3'(105-107) questions.

In a school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were
teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teaching
Geography and Spanish.

(=155
Bpseir_ 3 (105-107) allennssepss alent_weldsaib. E@
ueireflufled 5 G flwiiser 2 sirereii. P opmih Q o @Mwiser sLoev@ @5sLd Lopmith Sewflsid
spLs&prisear. R wpmin Q yPfwiser sefigh womib eugewnmy spHL9éSpriser.
S wppib P y@fwiser adpS wpmh sweavns spLE@priser. T whmib Q
< Siwiser yealuiwe wpmib evCueley sHLISEpmiser.

105. Who among the following teacher was teaching less than 2 subjects ?

A) P (B) R

< S (D) There is no such teacher

616% BFMNUASET 2 LML KISE5sE@ GDauTs eTHSEDTiser. |

(A) P (B) R

(S (D) o155 @Mwu@md @cbanav
106. Which of the following pair was teaching both Maths and History ?

(A) QandR (B) Qand S

(C) Pand Q (D) None of these

b5 Q)b A& Mwiser sexfigb wpmih eugewnm) LIML_Riser SHLISHDrisen 2

(A) Q oppib R (B) Q wppuib S

(C) P roppyb Q (D) @86 sigyayb @)evenev

107. P and Q were teaching which subjects ?

(A) Sanskrit and Maths

(B) History and Hindi E’,%g

(C) Geography and History '

(D) Spanish and Sanskrit

P wopmib Q 6168 Ln_Sens spLISSDmiEeT 9
(A) &Lev&BmSLD LoPMILD FH6whSLD

(B) ausewnpy oppib eEH

(©) yaufwev opmyib eugevmmy

(D) ewGuasflay wpmib Fwev&HsLd
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Refer to the Pie diagram which depicts monthly budget of a family and answer the following

three questions (108-110).

Ok0]
A=Food Gl
F A B = Conveyance
15% 25% " -
C = Clothing

D = Miscellaneous
E = Saving
F = House Rent

GOULbLISSE 015 ure) CFewas DI L _Gmss SM_(PLb LTI SeNSLI LTSS LD.
auengliLL_gens umisgl Lertaimid apeiin Caerallsers@d (108-110) alenr. 515s.
A= 2 awiey

B = Guns@eunss)

C=soant

D = @sr Gleewaser
E = Gabliy

F = af" Qeum_ems

108. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance
per month ?
(A) Rs. 400 (B) Rs. 360 (C) Rs. 370 (D) Rs. 325 %ﬁ
GOLbusH e Glonss wng auonerd ep. 3,080 erafled, @b WIFSDDG '
CunéGansgée eaiaeay Cgrams CFawall_ LGS DS ?

(A) em. 400 (B) em. 360 (C) em. 370 (D) em. 325
109. How much rent is paid by the family per month ?

(A) Rs. 550 (B) Rs. 462 (C) Rs. 430 (D) Rs. 426

R LISSH DG GO b ereueuarey afl (B eunL s 6ClFessHSnag ?

(A) en. 550 (B) em. 462 (C) em. 430 (D) em. 426

110. How much amount is spent on clothing per month ?
(A) Rs. 530 (B) Rs. 545 (C) Rs. 580 (D) Rs. 554

R LISSHDG eL_ds15 erecuena Cgnes Glewalll i LGSDG ?
(A) 5. 530 (B) e5. 545 (©) ep. 580 (D) em. 554
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111. For the following question; various forms of a letter series are given with one term missing
as shown by (?). Choose the missing term out of the given alternatives.

HUA GTZ FSY ERX ?

(A) DWQ (B) DQW (C) WDQ (D) WQD

Sereuptd aflernailed, LsbGoumy e1(pdgl CBMGLIL ST 2 dene. @Bed @l L1
srpdgissemar LlsraisLd allen_sefledmig Csing e1(hése b o

HUA GTZ FSY ERX? lﬁ%

(A) DWQ (B) DQW (C) WDQ (D) WQD

112. R 1s the brother of'A. S is the sister of P. A is the son of S. How is R related to S ?
(A) Son (B) Brother (C) Uncle (D) Father
R erastieui A afleir sGsnggi. S erevruaui P ullelr sGsnsh. A srestiout S e Losair.
R p@ib S m@Lb ereiten 2 pay woem ?
(A) Loseir (B) #Caxngorr
(C) tomsair (D) shes

113. A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North (B) North-West (C) South-East (D) North-East
R 5 H15MISGI6 wesdl 4.30 s FDG!, HILOL wer Hwss Crrs&umisey,
oewflperr 6% Glewaamw Crrss @)wss @b
(A) ouL_& (B) au_Gop@
(C) Clsar®ps @ (D) e BpéG

114. If the code for ‘STABLE’is 123 4 5 6 and code for ‘LABOUR’is 53 4 7 8 9, then what
will be the code for ‘BOTTLE’ ?

[E5E
(A) 472256 (B)472556 (C) 472265 (D) 475526 %
&lov @O ® 9y Cvem_uied ‘STABLE ereiniigeir @plui® 123456 gysayb, ‘LABOUR’
erairugest GPi® 534789 ysaub @ @inden, ‘BOTTLE’ ersiiuger @plui® ereirewr 2
(A) 472256 (B)472556 (C) 472265 (D) 475526

115. Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.
Again he turns right and walks 14 feet. How far is he from his house ?

(A) 4 feet (B) 5 feet (C) 24 feet (D) 42 feet

giggn e of9ellppg Sips@ Crrss 10 wng pLpg 96 eueugiymd Dbl
3 g pLSEDAGH. LopILIg ujLD HeUEHT euevsILDLD FHLbLT 14 iy BB DreT. yeus
aili" 19 GOlmbG) 6TRIRIGTRY FITLDITS 2 GTGTTG ?

(A) 4919 B) 5 oy (€) 24 99 (D) 42 9g
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116. Match the following :
i) Co-efficient of range
ii) Co-efficient of variation

117.

118.

119.

iii) 32:24
iv) Ratio of 3 m to 200 cm

(A)4,1,2,3
QuImBSEI5.
i) afFasGlap
i) rur’ Gé6)swp
iii) 32:24
iv) 3 18 &b 200 Q&S G@Lb 2 6tar all@sLd 4) =
+

(A)4,1,2,3

GET IT ON
Google Play

3) Zx100%
X

B) 2,3,4,1 () 4,3,1,2 (D) 1,4,3,2

3) Zx100%
X

(B) 2,3,4,1 s 1,2 (D) 1,4,3,2

Construct algebraic equations for the following verbal statement.

Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.

(A) 4x-5=33

(B) dx+4 =33 ) 4% + 35 58

(D) 5x—4=33

esraupd eumiiGomflé smpmid@ CMnbesLomes @) wpasesils FLOGTLITE 2 (56uTsHE%.
padluflelr gjLiLimalle euwigl gauiler e 4 Lol _BIGL_65T S @28 dnl L SlanL_LILg & LD.

gadluflest ojLimelest auuigl 33 pELb.

(A) 4x-5=33  (B) 5x +4=33

(C) 4x +5=33

The triangle with perimeter 12 cm can be
(i) An equilateral triangle

(ii) An isosceles triangle

(A) Only (i) is true

(C) (i) and (ii) are true

(B) Only (ii) is true

(D) (i) and (ii) are not true
12 Q&.18 spperayerer (psGsmentrIsar LN6T6UHLOMNDI ELDUIGVTLD.
() e@w #0168 Lp&GHTERILOTS Y eLDOWIGVTLD.

(i) @0 @QuFwuss LPECHTETLOIS e LOWIGTLD.
(A) (i) o @b i
(C) (1) ommyb (i) &l

(B) (ii) oL @b &M
(D) (i) wopmyb (i1) seumy

The side of a square is 10 cm. If its side is tripled, then by how many times will its perimeter
increase ?

(A) 2 times (B) 4 times (C) 6 times (D) 3 times

(D) 5x—4=133

R #5105 e LSS 10 CF. 15 Fevyent_w LIGSLD epediny L misTEb Cung,

FDDOTQ| THSNGT LOL_EISETEH I FHAS@EGHD ?

(A) 2 or_mi (B) 4 wms

(C) 6 i (D) 3 wrmy
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120. What is the probability of drawing a king or a queen from a deck of 52 cards ?
(A) 213 (B) 3/13 (C) 1113 (D) 8/44
52 1" (pser Clsmem. @@ FL06 1196w hg @Qunan seveg) (@) mest
CaipolsBLiugnasren (spsse, eTerer ?
(A) 2/13 (B) 3/13 (C), 1/13 (D) 8/44
121. The following question consists of two sets of figures. Figure A, B, C, D constitute the

problem set, figure 1, 2, 3, 4 constitute the answer set. There is relationship between A and B.
Establish a relationship between C and D by selecting suitable figure from the answer set.

A | e Py
A B C D 1 2 3 4 EYE
(A) 1 (B) 2 (©) 3 D) 4 _ E%

Lieiraummib Gaeradluileh (Q)uess(h) aflSLomet euenLIL_ K156 o_6iTenasT. auangLIL_Biger A, B,
C, D eratruer Caerailé@mlu u_mser. euengii_miser 1,2, 3,4 eiarer LSaid@slu
uL miser A wpmid B aflpg @e _Cu g G iy o derg). Campasiiin
Clsr LIS BEs Clunmwssiore LB Cain6ls®sg C wpmib D aflsr @ent Gus
o_eitar QlGmL_fienw Blmyesetb.

— |2 PN A=)

A » D 1 2 3 4
(A) 1 (B) 2 ©3 (D) 4

122. Which letter will be placed at the question mark (?) to complete the pattern ?

(A) DK (B) DW (C) DL " (D) DE
Gaerals@puil L QLB abs cupssibsmen wausstew Qg LLsms Hana)
OFuinu (Lpiguyib E¢E

(az|my

(A) DK (B) DW (C) DL (D) DE
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123. According to the given diagram which one of the following statements is true ?

/[

\ ——> Philosophers
Historians

(A) All historians are magicians

(B) Some magicians are philosophers as well as historians HEE
(C) All historians are either philosophers or magicians !
(D) Some historians are philosophers ’

Magicians

QSTRSSLILIL L. auenTLIL $HT pLpevLd BLpSEe(B6Tan 61hs YBISens 2 Gaenio ?

/8

-\ ——> s55I10u6UNH)
eugaapmTF v

(A) ercbeur eugamdPIRAwi@Ld ESTauT® et
* (B) fov w55 76uTHS SSEHIUMTSUTSALD, UFTDDIRMNUIISOID 2 GTeney T
(C) erebeur eugevmdDIRNLHLD el $SdIeueunBwnsGaur 2yebevs) LosSHTeuTd winsGeur
2_Giremevrt
(D) &ev augevmpprffwisen $S550ueuns ool

124. If Ais to the South of B and C is to the East of B, in which direction is A with respect to C ?
(A) North-East (B) North-West (C) South-East (D) South-West
A er6itLig) B 4@ Qgpansayb, C eterug B 4@ Sipdsrsab @) wpsme, C @
Clunmgsaieng A e1s Hensulled 2 drens)
(A) a1_&ips@ (B) aur_Gop (C) Oszeir Hpss (D) QsarGone

wiSeuns

125. Choose the Venn diagram that depicts the correct relationship among the three groups.

Dogs, Pets, Cats
O O]
(A) @ (B) o © (D) . 58
O O

apeim GpssallenCu sllwner 2 peey AS5MEGD Glouer auamgLL Sasd
G605 (hdsayLb.
Biiser, GlasveiSgnenflae, Lyenamsmser

(A) (B) @ (©) OOO D)
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126. Find the number of triangles in the figure below.

A

(A) 10 (B) 12 (©) 13 (D) 14

B1psngb LIL B 1SS (LpdCHMeIBISET 2 GiTeTes.

AR

(A) 10 (B) 12 (©) 13 (D) 14

127. Which of the diagram represent the statements ?
— Some musicians are teachers
— Some teachers are players, but

— No musician is a player.

@ @ ®| Dl ©O0 o

LiesreupLd UL EH6v 615 G?an@a;&;uur_@msw QTS GNLIMIS 6T @ﬂa@m@ 9
— Blov @enFwenioLILiTeriser oyFMuiiser
- 8o S Mwiser allenemum G afgiser, 2y,eTeD,

— e1p5 QevFwenioliLimerisestd allenarim (B afuisen @)svenay

@) (%) ®l D] ©lO0 o

128. Check the odd one out.

1, 8, 65, 64

(A) 1 (B) 8 (C) 65 (D) 64
saflE3)\BEGLD erevTenaT TI(HSS CT(LHSIS. EEE

1, 8,65, 64 O}

(A) 1 (B) 8 (C) 65 (D) 64

129. Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How many
students are there in a class ?

(A) 34 (B) 32 () 31 (D) 33

R GG @ Ll g welSled grup CuoeSlmig aipreug @)L Samsub SLAwHS!
QBLUSE Ywraug QL Sensujd GClLupyerearTi. U@L CIES6T LOTETETSH6T
o_GITeraui.

(A) 34 (B) 32 (C) 31 (D) 33
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130. Find the missing character from the given alternatives.
16 12 21 9 10 ?
(A) 21 (B) 12 (C) 32 (D) 22

esrau@pid eratasaflcy Caeradls@Gmuil L 616w 618 6Tedm Hevs_Plwajib ?

16 12 2] 9 10 ?
EEE
Y Y Y E,% :
14 15 - 16

(A) 21 (B) 12 (C) 32 (D) 22
131. Find the odd word.
(A) Arrow (B) Sword - (C) Knife (D) Axe
SNSB(BSGLD umideansenuid Heor(piiig
(A) <yby (B) eumeir (C) 555 (D) Gasm_mf
132. Arrange the words in meaningful sequence.
1. Weaving 2. Cotton 3. Cloth 4. Thread
(A) 2,4,1,3 (B) 2,4,3,1 (©) 4,2,1,3 (D) 3,1,4,2
QUMTSMSHT TSSLpeen auflensuiley oj(hFHa b
1. Glpsay 2. LSS 3. ayewfl 4. myev
(A) 2,4,1,3 (B) 2,4,3,1 (©)4,2,1,3 (D) 3,1,4,2

133. There are five different houses A to E, in a row, A is to the right of B and E is to the left of
C and right of A, B is to the right of D. Which of the house is in the middle ?
(A) A (B) B ©C (D) D
A wpsev E aueng g auflenguiled goig alpser o eerer. A ereirLig) B 61 euew@epiib, E
erairiigy C a1 @)1_Sayiid, A alleir aua@aib 2 areng). B erairiigy D i1 arevGleb o cirang).
6165 aI® B@R@N 2 6reng) ? EEE
(A) A (B) B ©C (D) D E%

134. In a class of 45 students, a boy is ranked 20" when two boys joined, his rank dropped by
one. What is his new rank from the end ?
(A) 25" (B) 26" (Cy2m (D) 28"
45 womewsrauisseir LI @ Lb auELle eup Omyeusst 206ug) Curid OLmpyerentetr. @)ren(
Fyeuiser CaiphsGLING eugs 7 uflens ein GenhaieTeng. smi_Fulle @) mhs!
euisl LS w speuflens ereiiesr ?
(A) 25" (B) 26" (c)y27* (D) 28" .
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135. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than
T. Two of them can lift weight less than P, S does not lift minimum amount of weight. Who
among them lifts the maximum weight ?

AT (B) R ©Q (D) S

5 ueangnd@Liauisaiied (P, Q, R, S wpmib T) Q oyeui P & el o9 c1enL_eow
FN1EGSpr. yerrev, T @ el @Gepainer e _w SI&SGS DT, euisefey
Q)Bouit P go o9l Goopps eranL_amw H158 (plguib. S G@DESULF cTenl_aoil
sisseilveney. Qauiselley, wit YPHULF eieL_eow FNSGSDpi ?

(A) T B)R ©) Q (D) 8 %
[t
136. If 80 is added to 80% of a number gives the same number. What is that number ?
(A) 500 (B) 400 (C) 800 (D) 600
i crevsrawstlair 80% 2.1_a1 80 @28 Fnl” UDCLING 20O 6160 BewL_SHWS). SIS GTewT 6T65Tew 2
(A) 500 (B) 400 (C) 800 (D) 600

137. The next term in the sequence
15, 17, 20, 22, 25,... is

(A) 28 (B) 29 ©) 27 (D) 26
15,17, 20,22, 25,... etetip Glsm_ifleir 2085 2 myiny
(A) 28 (B) 29 (C) 27 (D) 26

138. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
then the sum is

(A) X 3,650 (B) X 3,750 (C) X 3,450 (D) 37,750
GLooGaicd @ GBI L CsnenasE 10% a1y 95580 2 yav@s6r S1L055)
R 71502 saflai’ ywrs CeaysBeanmed st s Clgrens S (&Lb.

(A) 3,650 (B) ¥ 3,750 (C) X 3,450 (D) X 37,750

139. 45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 (C) 162 (D) 115
R VTG 2 PLSH ClFiuyid Flnyeuearih 45 alwnergisemer 5 pr_seflled 2 HLGS)
OleiSmg erafled, yBBeusnd 18 prlselled o pLSH Gewiub eomermisest
GTGUTGUT IS en % GTGHTENT 2
(A) 125 _ (B) 324 (C) 162 (D) 115
EISE '

140. 1. Every rational number is a real numbers. =

II. Every real number is an irrational number.
(A) I is correct (B) II is correct

(C) both I and II are correct (D) both I and 11 are incorrect
L. geCleunm alSswpm eremeyih GlouiCwsss.

II. geibleunmy CuuiQwengsb @SS wLpmT cT6wT.

(A) 1 erevrLigy &l (B) 11 erevriugy &M

(C) I wpmyib 11 @)pewsr(Hid Fril (D) 1 wopmub 11 @)oessr®id Saumy
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OPEN

WRITTEN EXAMINATION - FINAL ANSWER KEY

QUESTION BOOKLET SERIES - A

Q. No. | ANSWER | Q. No. | ANSWER | Q. No. | ANSWER
1 D 26 D 51 C
2 B/C 27 C 52 B

3 A 28 A 53 |A/B/C
4 A 29 A 54 A
5 D 30 D 55 A
6 A 31 D 56 B
7 C 32 C 57 D
8 C 33 A 58 B
9 C 34 C/D 59 D
10 B 35 C 60 B
11 A 36 B 61 C
12 A 37 C 62 B
13 B 38 A 63 B
14 D 39 C 64 D
15 A 40 D 65 B
16 D 41 C 66 B
17 C 42 B 67 A
18 C 43 C 68 D
19 A 44 A 69 B
20 A 45 C 70 C
21 A 46 A 71 B
22 C 47 A 72 D
23 A 48 D 73 D
24 D 49 C 74 B
25 C 50 B 75 A
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76 C 101 D 126 B
77 A 102 C 127 D
78 C 103 A 128 A/C
79 A 104 C 129 B
80 B 105 D 130 D
81 C 106 A 131 A
82 C 107 A 132 A
83 B 108 C 133 A
84 C 109 B 134 C
85 C 110 D 135 A
86 D 111 B 136 B
87 B 112 A 137 C
88 C 113 D 138 B
89 A 114 A 139 C
90 B 115 B 140 A
91 C 116 C
92 B 117 C
93 A 118 C
94 A 119 D
95 B 120 A
96 B 121 D
97 B 122 B
98 B 123 D
99 C 124 D
100 D 125 B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	SI - 2022 - OPEN QP.pdf
	SI-2022 - OPEN ANSWER KEY

